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1.

(1)

(3)

(5)

(7)

a?® — 9b?

2 —2t+1

2?2 + 160z + 6400

22 — 162 — 36

(2)  22+5x—6

(4) 2? — 15z + 56

2
(6) 3—5 — 0.09y2

(8) 222+ Tay — 4y?
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2. ROAENELBEE. (SHk1g, A1330%, B#K273 15, C#H3350%)

(1) a® — 1662 (2) 22+ 52 +6

(3) > —4t+4 (4)  2®>—10z 56
(5) 2%+ 180z + 8100 ©) 00122 — %
(1)  2%2+8x—48 (8) 322 —day — 4y?
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1. XOAZKE L. (SHh14r, Ath1330%, B#k23 158, C#3550% )

(1)  a?2-9v2 (2) 22+5x-6
= (a + 3b)(a — 3b) =(x+6)(x—1)
(3) t2-2a+1 (4) 22— 15z +56
=(t—1)2 =(x—T7)(z —8)
(5) 22 4160z + 6400 ©) % 0,09y
= (x + 80)* — <‘; + O.By) (§ — 0.3y>
(7) 2% — 162 — 36 (8) 222 + Toy — 4y?
= (z +2)(z — 18) = (z + 4y)(2z — y)
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2.

ROXNZNE R L. (SH1, A1530%, B#F25 158, C#H3550% )

(1) a® — 1662

= (a + 4b)(a — 4b)

(3) 2—4t+4

=(t—2)2

(5) 2+ 180z + 8100

= (= + 90)2

(7) 2> +8x—48

=(x+12)(x — 4)

(2) 22 +5x+6

= (z+2)(z +3)

(4) 2? — 10z — 56

=(x+4)(xz—14)

2
2 Y
(6) 0.01z 56

_ Y _ Y
= (O.l:c + 6 ) (O.lw 6 )

(®) 32 — dxy — 4y?

= (3z + 2y)(z — 2y)
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